Rapid Reasoning | Answers Year5 | Week 3 | Day1

m Write the temperatures in order m Maryam picks any two cards and adds
on the thermometer, from the highest them together.
temperature at the top to the lowest She can make three different totals using
temperature at the bottom these cards.
3°C -14°C 12°C -T°C 750
"
What are the three totals she can make?
12°C
1,190 |or| 1,310 |or| 1,380
3°C 2 marks
m Two of these numbers multiply together
-7°C
to make 2700.
%) (10

Write the multiplication as a number
sentence.
1 mark

90 x 30 =2700

1 mark
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Rapid Reasoning | Mark Scheme Year5 | Week 3 | Day1

Requirement Mark | Additional guidance
Q1 | Inorder from top to bottom: 1
12°C, 3°C, -7°C, -14°C
Q2 560+630=1,190 2 Accept totals in any order and also totals given

560 + 750 =1,310 without the number sentences.

630 + 750 = 1,380
Award ONE mark for two correct totals.

Q3 [90x30=2700 1
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